Neural Network — near finish

New topology — network was ,overtrained”

- Overtrained means, that it was working correctly
only on training sample, but not in general.

More events (5000 - 20000)
Training sample # Test sample

One additional variable — number of muon
stubs.



Sample

SHIBILNP/INP

T

10"
10®

A®9 | Jed 1JWNSPNP

AN NN
e

Number fo tracks

()

-
L

L

10°

M

100

SumEt [GeV]

20

T mu mey ey ey ey ey ey ey 2Ty ey 2

2

ot

s

1

Fraction of Em Energy

0.9

5
R
e A,
R ] o
gl TR TR T
e eyt

o
pd
.}\

)
f})‘
et
ali
Ears

BN
5
T
5

i
Ry,

h:"\.

A
P
%

o

g
S

i

@
=
o

0.035
0.025

0.02
0.015

UONIEIIWIP/ING

50

Missing Et [GeV]

. .tt_.._.__.._..
S L
L L

ot 1 '
o
o B B B
2 2 2 2
#29 ¢'0 1ed 1ITWPNP

'l
1.4
Event type

0.6

0.2

-0.2

0.4

q

____________________
] ° < o ]
o o o o

old

Number of hits in muon stubs

WY T
o B

0 < a o - ]
o o

SHHNP/NPR



Results
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Still to think about

* Another key variables?
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